-

=
oM

& AF R £ A X & =i 2 g

24
=

£ Al M

AEHE 2 H2E-TH0I =& (H1200xW3000, =)

2 Xk 20242 &
SHE: FEMEH
1577-8549

EL
AX: (02)3436-6450




& F tH It pes
NEH 2 L20-TH0| Z & (H1200xW3000, &)
M 2 bl = 2 2l g
2E = *2 o9 bl 2
e ot 3 o e O 3 o e O 3 o e Ot 2 o
1. HRHSZ LTI TS (H1200xW3000, EH)&XIBA 'F2H'S (EBE)
Y ®101.6X2tX1900 1= 85,000 85,000 85,000 85,000 SS0REI+EHEH
RS ®101.68 1 of 9.600 9.600 9.600 9,600 EB0IRESrEHCE
e ©76.3x3050x2t 1= 67,000 67,000 67,000 67,000 SSOREI+EHEH
ox ©50.8x3050x2t 2 = 38,800 77,600 38,800 | 77,600 EB0@cI+EAEH
HMCUAHEE  MBxTI0(AH) 1 of 1,500 1,500 1,500 1,500
UEGLB/BLIE  MBxTI0(AH) 2 M 1,200 2,400 1,200 2,400
BEAR| 50X320 i} 3.300 3,300 3,300 3,300
A3 (RIZH) 246,400 - - 246,400
ER sgow 0.09 o 214,222 19,279 214,222 19,279 0 o) e
EENE 0.18 o 165,545 29,798 165545 29,798 UL AEBNECEANE S aEA P
EESP] 25kw 0.12 hr 9,437 1,132 33,571 4,028 3,237 388 | 46,245 5,548 2 P
95 (201 E&) 0.6m° 0.12 hr 25,459 3,055 | 55,700 6.684 34,509 4,141 | 115,668 13,880 | e e
gmee 2.5ton 0.24  hr 7,083 1699 = 47,231 11,335 6.169 1,480 = 60,483 14,514 | e s
SRS eI EZ2l 3% oA 1,472 1,472 1,472 1,472 (20249 ALTNEESH(HEALE D) P.746
A3 (& XIH) 7,358 71,124 6,009 84,491
A 253,758 71,124 6,009 330,891
*'m"S EO} 330,891 / 3m = 110,297




el <l ot o
X2l T2l &4 & A
z5 7 >z | o9 Bl 2
= = 9 =l = 9 =l = 9 =l = 9
2. A HEZZ2HZ-T0|ZE S (H1200 EHME)EXSAM "HAS (ES8)
Xl > ®101.6X2tX1900 0.5 & 85,000 42,500 85,000 42,500 BS0IAZZ+ENZH
X = ®101.68 0.5 M 9,600 4,800 9,600 4,800 E80IHEZ+2HEE
d & A HEde= 1 M 18,000 18,000 18,000 18,000 ESB0HES+EHCE
HEHUYHAB=EE M8x110(AEl) 0.5/ & 1,500 750 1,500 750
EFHEB/BUHE M8x110(A &) 1 M 1,200 1,200 1,200 1,200
BEALXI 50X320 0.5/ & 3,300 1,650 3,300 1,650
2 (RIEHI) 68,900 - - 68,900
A Xl g0 0.05 ¢! 214,222 9,639 214,222 9,639 EEF2AU250% HE
20 0.09 ¢ 165,545 14,899 165,545 14,899 |E&E7729 50% Mg
Erap) 20 0.06 | hr 9,437 566 33,571 2,014 3,237 194 46,245 2,774 |EEF2AU250% HE
HS(EYO0IH ZE) |0.6m° 0.06 | hr 25,459 1,527 55,700 3,342 34,509 2,070 115,668 6,939 EEF2AU250% HE
HOEH 2.5ton 0.12 | hr 7,083 849 47,231 5,667 6,169 740 60,483 7,256 | EER2S 50% g
S K= I Z 2l 3% 1 A 736 736 736 736 2024 ALTAHEEM(UEHALES]) P.746
2 (& XHI) 3,678 35,561 3,004 42,243
Al 72,578 35,561 3,004 111,143




p) = CH It e
T i L 2l 4 4l g A
2E 7 =g | ¢9 Bl 2
=l = 9 =l = 9 =l = 9 =l = 9

* 1S HE : &AI|(25kw)-'AlI2H' S
2R 0.001W% S 4.3 1 1,770 7,611 1,770 7,611 12024.01 JeHdt=2 P.1451
ESPUEES FHR9 24% 0.24| A 7,611 1,826 7,611 1,826
LB H2H A 1 ¢ 33,571 33,571 33,571 33,5671 |H4z=

Al 9,437 33,571 3,237 46,245
* JI2SH : §IE2{(2.5ton)-'Al2HE
2R 0.001W% S 2.9/ | 1,770 5,133 1,770 5,133 [2024.01 JHehIt2 P.1451
ESPUEES FHZ22 38% 0.38| A 5,133 1,950 5,133 1,950
SIS X2 A 1 ¢ 47,231 47,231 47,231 47,231 M55 2

Al 7,083 47,231 6,169 60,483
* MI3SH : #5(0.6m°,HEE01H Z&)-'AI2HS
2R 0.001W% S 1.6 | 1,770 20,532 1,770 20,532 12024.01 HeHot= P.1451
ESPUEES FHR9 24% 0.24) 4 20,532 4,927 20,532 4,927
HAEIIHZ2H A 1 55,700 55,700 55,700 55,700 He6zE

Al 25,459 55,700 34,509 115,668
* M4SE : dED|AHSFA-'AIZVEY
LB A2 A 0.208 | ¢l 161,142 33,571 161,142 33,571 1LIIZEAIZx& 01 H 2xE X H 2==(1/8)x(16/12)x(25/20)




W2 bl ] 2 g i
z = 72 2z | o9 8l 2
e It 2 o e It 2 o e It 2 o e It =

* HSSE : BHSASBA-'AR'Y
SRS 0.208 ¢l 226,709 47,231 226,709 47,231 | 12091% AI2A 01 x5 X1 0 4=(1/8)x(16/12)x(25/20)
* RI6SE : AT HSHA-ARN'Y
AL HSH A 0.208 ¢l 267,360 55,700 267,360 55,700 122712 A& 010 4x5 I 4=(1 /B)x(16/12)x(25/20)
* = QIEt}
sgow 2024.1.101% 1o - 214222 214222 214,222 | 214,222
CELIE 2024.1.171% 1o - | 165545 165,545 165,545 | 165,545
ABDIHSFA  2024.1.101F 1 o - 161142 161,142 161,142 | 161,142
g2 2024.1.101% 1o - 226709 226,709 226,709 = 226,709
ALIINSHA 2024.1.101F 1o - | 267,360 267,360 267,360 = 267,360




-

=
oM

& AF R £ A X & =i 2 g

£ Al M

NEHECZ2LH20-T0| & (H1200xW3000, AEl)

g At 20242 &
SHE: AR
TEL 1577-8549
FAX: (02)3436-6450




& F tH It pe
NEH 2 L20-TH0| Z & (H1200xW3000, AH)
T 2 bl =2l 2l g
2E = *2 o9 bl 2
e ot 3 o e I} 3 o e o} 3 o e I} 3 o
1. HRHSZ LTI TS (H1200xW3000, AEH)&XIBA 'F2H'S (EBE)
nooF ®101.6X2X1900 1 =2 | 154,000 154,000 154,000 154,000 AHeld
N E ©101.68 1 of 9,600 9,600 9,600 9,600 EBOIEI+EUEH
e ©76.3x3050x2t 1 = 186,000 186,000 186,000 = 186,000 Ao
RS ©50.8x3050x2t 2 OH | 122,000 244,000 122,000 | 244,000 AHoldA
HMCHUABEE  MBx110(LE) 1 of 1,500 1,500 1,500 1,500
HEZB/BUE  M8x110(AE) 2 M 1,200 2,400 1,200 2,400
BEAR| 50X320 i} 3,300 3,300 3,300 3,300
£ (RZH) 600,800 - - 600,800
gxtl ssols 008 @ 214222 19,279 214222 19,279 B e s
EEEE 0.18 ol 165545 = 29,798 165,545 20,798 L R e e
2| 25kw 012 fr 9,437 11382 83,571 4,028 3,237 388 46,245 5548 |2 qorass 5 Lole kA B0 o1t
WS (23019 Z8) 0.6m° 012 hr 25,459 3055 55700 6.684 34,509 4141 115668 13,880 S agamoe s ns crole e sgw olEHo
gmee 2.5ton 0.24  hr 7,083 1699 = 47,231 11,335 6.169 1,480 = 60,483 14,514 D e S L B wtioie
NN 012129l 3% 1A 1,472 1,472 1,472 1,472 202448 ASEEBAREATN) P.746
220 (& 1) 7,358 71,124 6,009 84,491
A 608,158 71,124 6,009 685,291
*'m"S EO} 685,291 |/ 3m = 228,431




el <l ot o
X2l T2l &4 & A
z5 7 >z | o9 Bl 2
= = 9 =l = 9 =l = 9 =l = 9
2. A HEZZ2HZ-T0|ZE S (H1200 EHME)EXSAM "HAS (ES8)
Xl > ®101.6X2tX1900 0.5 & 154,000 77,000 154,000 77,000 AHQIA
X = ®101.68 0.5 M 9,600 4,800 9,600 4,800 ES0IHEZ+2HEE
d & A HEde= 1 M 18,000 18,000 18,000 18,000 |2AHIQA
HEHUYHAB=EE M8x110(AEl) 0.5/ & 1,500 750 1,500 750
EFHEB/BUHE M8x110(A &) 1 M 1,200 1,200 1,200 1,200
BEALXI 50X320 0.5/ & 3,300 1,650 3,300 1,650
2 (RIEHI) 103,400 - - 103,400
A Xl g0 0.05 ¢! 214,222 9,639 214,222 9,639 EEF2AU250% HE
20 0.09 ¢ 165,545 14,899 165,545 14,899 |E&E7729 50% Mg
Erap) 20 0.06 | hr 9,437 566 33,571 2,014 3,237 194 46,245 2,774 |EEF2AU250% HE
HS(EYO0IH ZE) |0.6m° 0.06 | hr 25,459 1,527 55,700 3,342 34,509 2,070 115,668 6,939 EEF2AU250% HE
HOEH 2.5ton 0.12 | hr 7,083 849 47,231 5,667 6,169 740 60,483 7,256 | EER2S 50% g
=l oIAZ 9 3% 1 A 736 736 736 736 (20245 ALHEEZM(ALCARAL) P.746
2 (& XHI) 3,678 35,561 3,004 42,243
A 107,078 35,561 3,004 145,643




J| =2 CH Jt e
TH u]l L 2l 4 4l g A
zs ZE 2z | oe o 2
=) = o =) = o =) = o =) = o

* JHSE : YAI|(25kw)—'AlI2HE
SEael 25kw 1 hr 3.237 3.237 8.237 8.237 %?iﬁfxEfgggggﬁ(%;ggzgég%oooooo1
2R 0.001W% S 4.3 | 1,770 7,611 1,770 7,611 12024.01 HehotA P.1451
SR FHR9 24% 0.24, A 7,611 1,826 7,611 1,826
B H 2 H AL 1 ¢ 33,571 33,571 33,571 33,5671 |H4z=

A 9,437 33,571 3,237 46,245
* JI2SH : §IE2{(2.5ton)-'Al2HE
BZE=R 2.5ton 1 hr 6.169 6.169 6.169 6.169 %?iﬁaiEfgggggﬁiaggzgéi%oooooo1
2R 0.001W% S 29 | 1,770 5,133 1,770 5,133 [2024.01 HeiotA p.1451
SR FHZ22 38% 0.38 & 5,133 1,950 5,133 1,950
SIS X2 A 1 ¢ 47,231 47,231 47,231 47,231 M55 2

A 7,083 47,231 6,169 60,483
* MSSH : #5(0.6m°,AEE0IH Z&)-"AIHY
FUHHS 0.6m’ 1 hr 25,681 25,680 25,681 25.680 %?iﬁfxﬁi;gggiﬁfézﬁ)&;f%ioOOOOOO1
2R 0.001W% S 11.6) | 1,770 20,532 1,770 20,532 12024.01 HehotA P.1451
SR FHR9 24% 0.24) 4 20,532 4,927 20,532 4,927
HAEI|H2E AL 1 55,700 55,700 55,700 55,700 He6zE

A 25,459 55,700 34,509 115,668
* 4SS E : eI HSFA-"Al2HEY
LB A2 A 0.208 | ¢ 161,142 33,571 161,142 33,571 1L IIE A4 01 H +xE Xl Hl4==(1/8)x(16/12)x(25/20)




W2 bl ] 2 g i
z = 72 2z | o9 8l 2
e It 2 o e It 2 o e It 2 o e It =

* HSSE : BHSASBA-'AR'Y
SRS 0.208 ¢l 226,709 47,231 226,709 47,231 | 12091% AI2A 01 x5 X1 0 4=(1/8)x(16/12)x(25/20)
* RI6SE : AT HSHA-ARN'Y
AL HSH A 0.208 ¢l 267,360 55,700 267,360 55,700 122712 A& 010 4x5 I 4=(1 /B)x(16/12)x(25/20)
* = QIEt}
sgow 2024.1.101% 1o - 214222 214222 214,222 | 214,222
CELIE 2024.1.171% 1o - | 165545 165,545 165,545 | 165,545
ABDIHSFA  2024.1.101F 1 o - 161142 161,142 161,142 | 161,142
g2 2024.1.101% 1o - 226709 226,709 226,709 = 226,709
ALIINSHA 2024.1.101F 1o - | 267,360 267,360 267,360 = 267,360




	5...BI-PS-H1200xW3000,분체-2401
	표지
	일위대가
	기본대가

	5S...BI-PS-H1200xW3000,스텐-2401
	표지
	일위대가
	기본대가


